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e3 A

Correct Answer:- Option-A
Question78:-dzeam AadBonY wif 8% TINT 03503 BeYENLL FD0ITNES?

Ar-oge 307 2.08¢ BORY WFE B0050390



B:- 0030008 30088 F5RNT00BRE
- =3

(o)

C:-@@%Qﬁo@wrmﬁ 29R0R08T 903N 30063 930NN
D:-@?Dde)acpai» doi)?%ﬁ RICATAKIS)

Correct Answer:- Option-B
Question79:-8% 3YNT 03003 23e30I3BMLD F90320 W3 302 0S?

A:-zSocégb N0 bS] A N)
B:-238 DBROFB0
C:-gBRon®

Q
D:-200x33¢31

Correct Answer:- Option-A
Question80:-2AT0° 30 WOIT wEedriodd 29033 B8 IFNTVI)NYY cdR[Bo "Feodeds
®03" (Symbolic Stage) dﬁb S30RROITS?

A:-ZJ0RVAT HOBNY I0ROT ::)mdm?gb ?_ﬁ;’oém@do

B:-3owe dw0nY Soeed éi)mdﬁ@’gb ?ﬁ&)’éﬁb@do

C:-303z e3S0eu MY Sowees &mdﬁ@’gg ggmm@m

D:- 887 w3350 S0p0T é:)mdmfglb ?gd—‘oéso@wo

Correct Answer:- Option-B

Question81:-Read the following passage and answer the questions below (Question
No. 81 and 82)

"Eel was named on account of his black coat and long weasel-like body. He was
wonderfully respectful and insinuating. He had the same appealing glance on
friends and strangers alike, but he inspired confidence in no one. His deferential
manner and docility were pretexts for his cunningness and hostility. He was adept
at stealing up to snap at a foot, creeping into the ice-house, or snatching a
peasant's chicken".

Find out the word from the passage which means "Easily manageable".
A:-insinuating
B:-deferential
C:-docility
D:-adept
Correct Answer:- Option-C

Question82:-According to passage, what is the real nature of Eel?
(i) Wonderfully respectful and insinuating

(i) Inspired confidence in no one

(iii) Cunning and hostile



A:-only (i and ii)

B:-only (i and iii)

C:-only (ii and iii)

D:-all the above (i, ii and iii)

Correct Answer:- Option-D
Question83:-There is a tiger the forest.

A:-of

B:-in

C:-with

D:-on

Correct Answer:- Option-B
Question84:-The children usually till the sun rises.

A:-has slept

B:-is sleeping

C:-sleep

D:-sleeps

Correct Answer:- Option-C
Question85:-Either Ravi or | mistaken.

A:-am

B:-are

C:-were

D:-is

Correct Answer:- Option-A
Question86:-It took me two weeks to my dengue fever.

A:-get across

B:-get out of

C:-get over

D:-get through

Correct Answer:- Option-C
Question87:-My neighbour is European.

A:-an

B:-a

C:-the

D:-all the above

Correct Answer:- Option-B

Question88:-Name the process by which humans acquire the capacity to perceive



and comprehend language.
A:-language learning
B:-language acquisition
C:-language syntax
D:-language phonology
Correct Answer:- Option-B

Question89:-Which is/are receptive language skill/skills?

(i) Reading

(ii) Listening

(iii) Writing

(iv) Speaking
A:-only i and ii
B:-only iii and iv
C:-only ii and iii
D:-only i and iii

Correct Answer:- Option-A

Question90:-Which of the word is rightly spelt?

A:-enthuciasm

B:-directer

C:-necter

D:-squiggle

Correct Answer:- Option-D
Question91:-6§$c§d 3D DOBT

A-%3

Q
B:-s0x
C:-3>30x)
D:-08

Q

Correct Answer:- Option-B

Question92:-2x8N03 $90300¢) 833300N03 &$D03LOY

0350007
A:-esozpir madogo
B:-dgwﬁmig
C:-033¢9
D:-090=03 2

Correct Answer:- Option-C
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Question93:-'3g83ny wrT' 2060 0dse0TH1 FB0dVFIT?
A:-%.&. TG0
B:-3503
C:-%0a.2359. ®2030T
D:-i3.00. 23¢08

Correct Answer:- Option-B
Question94:-5§c§d§ SZFR0PN S00T €7100E TORIVET THEFOWD 035F)BO?

A:-@o—-’smo&)

B:-200092390%0

C:-5300 23002

D:-©939 239020

Correct Answer:- Option-B
Question95:-'w30rRT" IWR) 8% 0PN YLVWIBTFE03TNT.

A:-RD8K0Y

B:-33¢ Degre 309

C:-e383¢3 309

D:-ddacpﬁo@

Correct Answer:- Option-B

Question96:-'m203, R0, M0 SO0 308 23eF, 0B ey ePE WeBd dY WeR', B8 831
méo:g’dgu WTBEITO 030980?

A:-Don0e% é’é%d

B:-23.&. oazsdgo

C:-330x)

D:-0.8.3

Correct Answer:- Option-B
Question97:-'&n' axoaQ T BB -

A:-7259380030 K00300TIES

B:-Qzsade0dd 3003205930

C:-3%0% ?ouai

D:-Q25ade0dd 300305980



Correct Answer:- Option-A
Question98:-230= 03050 REa1E 3030 BRITEII @égﬁ@b Q30033 B, 302 OPAT?
A:-3ogeRen
B:-Cdxen
C:-emen
D:-208030e0

Correct Answer:- Option-A
Question99:-®56@eﬁm§6 5950309 :nag QB NS 366363 03503307

A:_mm@){f
B:-8X0eQes0 9
C:-w¥dsces
D:-x00 R0

Correct Answer:- Option-B
Question100:-x08030e%8 083

A:-930 TS 0RO TDT 9IPNN 2003
B:-93¢c3 SoBE 03500

C:-DRe =N

D:-adzsgoé B O3Q

Correct Answer:- Option-A



